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&5 X 4 .z,na; Tlﬁﬁﬁ(z)o)ftﬁﬁﬁ jj(gr)\lj/knié X 4 ‘Finﬁﬁféd‘ﬁzg;ki 'Zlné){ jj(g')\l:/knié R 4 ,z,na; J:.lﬁﬁfJ(:)U)J:tlﬁl jj(g')\licnié X 4 J:JﬁﬁfJ(:)o)J:tlsl 'Zln%{ jj(gifn%é
’ 100kN/mM%#BZ % -l -~ - -|3mEBZB| - ~ - - -| 100kN/mM%E#B 2% - -~ - ~-|3mZEiBZ5 -~ - - -
Zh st -l -~ - -| EHn LS -~ - - - Zh st - -~ - -| £hList -~ - - -
9 100kN/mM%#BZ % - -~ - -|3mZEiB =% -~ - - -| 100kN/mM%#% % - -~ - —-[3mZEEZS -~ - - -
Zh st -l -~ - -| EHn LS -~ - - - Zh st - -~ - -| ZhList -~ - - -
3 100kN/mM%#BZ % - -~ - -|3mZEiB =% -~ - - -| 100kN/mM%#% % - -~ - -[3m%E#BZ B -~ - - -
Zh st 1.00/ 000 ~ 5.10 63.55| ZhLlst |0.00 ~ 0.00] 1.69 9.07 ZTh LS 1.00] 500 ~ 546 63.55| ThLlst | 500 ~ 546| 1.69 9.07
4 100kN/m#%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - ~-[3m%E#Bx B -~ - - -
Zh st 1.00/ 000 ~ 563 70.32| #h st [000 ~ 563] 1.73 9.24 ZTh s 1.00] 500 ~ 6.23 70.32| #hilst | 500 ~ 6.23] 1.73 9.24
5 100kN/m%#B% % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - ~-[3m%Ei#Bx 5 -~ - - -
Zh st -l -~ - -| EHn LIS -~ - - - Zh st - -~ - -| £hList -~ - - -
6 100kN/m%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - ~-[3m%Ei#BZ B -~ - - -
Zh st -l -~ - -| EnLiS -~ - - - Zh st - -~ - -| £hList -~ - - -
7 100kN/mM%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#B2 5 -~ - - -
Zh st 1.00/ 000 ~ 450 56.11| ZhLls |0.00 ~ 450| 2.27 1213 Zh LS 1.00] 500 ~ 7.30 56.11] Zhkls | 500 ~ 7.30| 2.27 12.13
8 100kN/m%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#Bx 5 -~ - - -
Zh st 1.00/ 000 ~ 3.66 46.13] #nList | 000 ~ 366[ 2.54 13.60 Zh LS 1.00] 500 ~ 873 46.13] #hbLlst | 500 ~ 873| 2.54 13.60
9 100kN/m%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#BZ B -~ - - -
Zh st 1.00/ 000 ~ 5094 7436 Zh s [0.00 ~ 594 208 11.12 ZTh LS 1.00] 500 ~ 833 74.36] Thilst | 500 ~ 833] 2.08 11.12
10 100kN/m%#B% % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#BZ B -~ - - -
Zh st 1.00/ 000 ~ 5389 7370 #h 4t [0.00 ~ 5.89| 2.00 10.70 ZTh LS 1.00] 500 ~ 758 73.70| #hLls | 500 ~ 7.58| 2.00 10.70
11 100kN/m#%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#BZ B -~ - - -
ZThLst 1.00/ 000 ~ 5389 7367 #h st [000 ~ 589 2.00 10.70 ZTh LS 1.00] 500 ~ 758 73.67| ThLls | 500 ~ 7.58| 2.00 10.70
12 100kN/m%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#B2x B -~ - - -
ZThLlst 1.00/ 000 ~ 525 65.41| ZhLls |0.00 ~ 525| 215 11.52 Zh LS 1.00] 500 ~ 7.66 65.41| Thbkls | 500 ~ 7.66| 2.15 11.52
13 100kN/m%#BZ % -l -~ - -|3mZEBZB| - ~ - - —-| 100kN/mM%#B 2% - -~ - -|3m%EBZ5 -~ - - -
ZTh LSt 1.00/ 000 ~ 523 65.25| ZhLlst |0.00 ~ 523| 2.16 11.54 Zh LS 1.00] 500 ~ 7.66 65.25| ZhLlst | 500 ~ 7.66| 2.16 11.54
14 100kN/mM%#B% % -l -~ - -|3mZEBZB| - ~ - - -| 100kN/mM%#B 2% - -~ - -|3m%EBZS -~ - - -
ZTh st 1.00/ 000 ~ 583 7288 14t [000 ~ 583 1.78 9.55 ZTh LS 1.00] 500 ~ 657 72.88| ThLlst | 500 ~ 657 1.78 9.55
15 100kN/mM%#B% % -l -~ - -|3mZEBZB| - ~ - - -| 100kN/mM%#B 2% - -~ - -|3m%EBZS -~ - -
Zzh s 1.00{0.00 ~ 583 72.88] =1 Llstk | 000 ~ 583 1.78 9.55 Lt 1.00f 500 ~ 6.57 7288 #nList | 500 ~ 657 1.78 9.55
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&5 R 4 .z,na; Tlﬁﬁﬁ(z)o)ftﬁﬁﬁ jj(gr)\lj/knié X 4 ‘Finﬁﬁféd‘ﬁzg;ki 'Zlné){ jj(g')\l:/knié X 4 ,z,na; J:.lﬁﬁfJ(:)U)J:tlﬁl jj(g')\licnié X 4 J:.lﬁﬁfJ(:)o)J:tlsl 'Zln%{ jj(gifn%é
16 100kN/mM%#BZ % -l -~ - -|3mEBZB| - ~ - - -| 100kN/mM%E#B 2% - -~ - ~-|3mZEiBZ5 -~ - - -
ZTh st 1.00/ 000 ~ 416 5201 #hbList 000 ~ 4.16| 214 11.44 ZTh LS 1.00] 500 ~ 561 5201 #hbist | 500 ~ 561| 214 11.44
17 100kN/mM%#BZ % -l -~ - -|3mEBZB| - ~ - - -| 100kN/mM%E#B 2% - -~ - ~-|3mZEBZD -~ - - -
ZTh st 1.00/ 000 ~ 516 64.29] #hbList | 000 ~ 516| 1.83 9.79 ZTh s 1.00] 500 ~ 564 64.29| #hbLlst | 500 ~ 564 1.83 9.79
18 100kN/mM%#BZ % 1.00/0.00 ~ 0.19 102.85|3m%E#ZB| - ~ - - -| 100kN/mM%E#B 2% 1.00| 1143 ~ 1197 102.85|3m%# 2% -~ - - -
ZTh st 1.00/ 019 ~ 798 100.00| #hLlst [000 ~ 798| 241 12.90 ZTh LS 1.00] 500 ~ 1143 100.00| #hLlst | 500 ~ 11.97| 2.41 12.90
19 100kN/m#%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - ~-[3m%E#Bx B -~ - - -
ZTh st 1.00/ 000 ~ 6.66 84.04| #hList | 000 ~ 6.66] 205 10.99 ZTh s 1.00] 500 ~ 964 84.04| #hlist | 500 ~ 964| 205 10.99
20 100kN/m%#B% % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - ~-[3m%Ei#Bx 5 -~ - - -
ZThLst 1.00/ 000 ~ 5.70 71.23] #n st | 000 ~ 570 2.11 11.32 ZTh LS 1.00] 500 ~ 819 71.23] #hblst | 500 ~ 819 211 11.32
100kN/m%#BZ % ~ ImERBZD ~ 100kN/m%Z#8 % % ~ ImEBZS ~
ZThLst ~ ZHLS ~ ZTh LS ~ ZNLUS ~
100kN/mM%#BZ % ~ ImERBZD ~ 100kN/m%Z#8 % % ~ ImEBZS ~
ZTh st ~ ZNLS ~ Zh LS ~ ZN LS ~
100kN/m%#BZ % ~ ImERBZD ~ 100kN/mZ#BZ % ~ ImEBZS ~
ZTh st ~ ZNLS ~ Zh LS ~ ZNLS ~
100kN/m%#BZ % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZThLlst ~ ZHLS ~ ZTh LS ~ ZN LS ~
100kN/m%#B% % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImERZS ~
ZTh st ~ ZNLS ~ ZTh LS ~ ZHN LS ~
100kN/m#%#BZ % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZThLst ~ ZNLS ~ ZTh LS ~ ZN LS ~
100kN/m%#BZ % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZThLlst ~ ZNLS ~ Zh LS ~ ZN LS ~
100kN/m%#BZ % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZTh LSt ~ zh st ~ Zh LS ~ ZNLS ~
100kN/mM%#B% % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZTh st ~ zh st ~ ZTh LS ~ ZNLS ~
100kN/mM%#B% % ~ ImEBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZhLlst ~ Zh LS ~ Zh LS ~ st ~
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